
RODHAM CHAIR

ASSEMBLY INSTRUCTION



1

2

X  1

X  1

X  4 H

X   6 M

X   4 N X   4 O

X   4 P

X   2 Q

X   4 J

X  2 C

X  1 D

X  1 E

X  1 F

X  1 G

X  1K

X  1L

X  4 I

N5

N4

3

2(5)

 C

 C

 D

 E

K

 H  I

 J

 J

L

 D

 G J

 J
 J

 J

L

M6×30

M6×40

M6×20

M5×40

M5×50

M6×50



5

 

3(5)

 F

 Q
 Q

 F

4

 PX4

 P

6

 X   4 P

M5×50

X   2 Q

M6×50



 MX6

 N

 N N

 N

X   6 M

M5×40

7

8

4(5)



9

Rev 1     210712

OBS!
Fäst ej täckpluggarna direkt, avvakta en tid tills att efterspänningen av skruvarna är gjord.
 
Notice!
Do not fasten the wooden plugs at backside of chair, until after some time, when screws are 
re-tightened! 

Efterspänn skruvarna regelbundet eller vid behov!
Tighten the screws regularly or when needed!

5(5)

 Ox4

110 


